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The Big Bang and Evolution

Secularism is the belief that certain parts of life should be organised separately from religion and religious belief. This doesn't mean that religious people cannot be involved - for example, like many schools, Cheney is secular - we include people of all religions and none but we do not give preference to any group.

The Big Bang is a secular view of the origin of the universe. Evolution is a secular theory for the development of life on earth.

Most scientists believe that the universe started about 15 billion years ago with what is known as 'The Big Bang'. This was a huge, really quick expansion of space, time, energy and matter (the stuff that makes up the universe). 

This theory is based on the evidence that the universe is getting bigger. Astronomers have worked out that the stars are moving away from us. They can tell this from the time it takes their light to reach us (sometimes many millions of years). 

If the universe is growing that suggests that a force is pushing it apart. This force is gravity. There would have been unimaginable amounts of gravity at the moment before the big bang and then - like a jack in the box - it was released.

Scientists do not agree on what caused the Big Bang. Atheists, who don't believe in God, may say that it was a happy accident. It may have been the result a previous universe- perhaps just like ours - shrinking in on itself until it created a 'Big Crunch'. If so, this might be how our universe eventually ends.

Religious scientists often suggest that God was the 'prime mover' that started the Big Bang. In other words, he knocked over the first domino that led to all the events of the last 15 billion years. This is often called the Cosmological Argument.

If the universe started with the Big Bang then God did not literally create life in 6 days, as written in the Bible, Torah and Qur'an. However, there are Christians, Jews and Muslims who believe that the Creation story is symbolic – that it expresses an important message. So, for example, the 6 days might represent much longer periods of time, and the story of Adam and Eve might be a warning about not listening to God.

If the story of Adam and Eve was a symbolic, rather than a literal story, then how did humans come to exist? The theory of Evolution was developed by a 19th century Englishman called Charles Darwin to answer this.
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Evolution explains that different types of animals (or species) change over thousands of years through a process called Natural Selection. Animals best suited to their environment (for example giraffes with long necks in areas with high trees would be best suited to eat their leaves) will be most likely to live long enough to breed successfully. They will then pass on their genes (the code that makes their bodies what they are) to their children. 

Evolution suggests that humans developed from apes over thousands of years by learning to use simple tools and speaking a basic language. Early humans with the best brains became most successful and passed on their genes.

The Big Bang and Evolution Tasks

1) Match up these words with their definitions then copy them into your book.

HEADS


TAILS

Astronomers

The belief that parts of life should be organised separately from religion


Atheists

A secular view of the origin of the universe

The Big Bang

Scientists who study the stars

Evolution

A process where the animals best suited to their environment survive

Secularism

People who don't believe in God

Natural Selection
A secular theory for the development of life on earth

2) Copy and complete the fill in the gaps exercise below:

Most scientists believe that the universe started around __ billion years ago. The Big  ___ caused matter (the stuff that makes up the universe) to expand really _____. This theory is based on the evidence that the universe is getting _______. Astronomers can tell this because of the time it takes for the light from _____ to reach us.

People disagree about what caused the Big Bang. Atheists, who don't believe in ____, may say that it was a happy ________. On the other hand, religious scientists often say that God was the 'prime ______'  that started the Big Bang. This may be compared to God knocking over the first _______. It is known as the __________ argument.

Words:

domino
accident
15
bigger

stars
God
mover

Bang

Cosmological

quickly

3) Answer these questions in full sentences:

a) What is the difference between a literal and a symbolic understanding of the Creation story?

b) Which do you find more convincing? Why?

4) Think of an animal. Think of something it has which is well suited to its environment (eg a polar bear's fur, a seagull's wings, a dog's nose). How would a believer in evolution explain how it got this? Would you agree?

5) Can science and religion go hand in hand? Explain your opinion, looking back over the work you’ve done in the last three lessons. Your answer should be at least 50 words long.
